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Medians and Altitudes
5-4

Reteaching
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A median of a triangle is a segment that runs from one vertex of the triangle to the midpoint of the opposite side. The point of concurrency of the medians is called the centroid.
The medians of ∆ABC are 
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The centroid is point D.
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An altitude of a triangle is a segment that runs from one vertex perpendicular to the line that contains the opposite side. The orthocenter is the point of concurrency for the altitudes. An altitude may be inside or outside the triangle, or a side of the triangle.

The altitudes of ∆QRS are
[image: image4.wmf],
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The orthocenter is point V.
Determine whether 
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 is a median, an altitude, or neither.
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  1.





    2.
3. 
4. 
5. Name the centroid.
6. Name the orthocenter.
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Medians and Altitudes
Reteaching (continued)
The medians of a triangle intersect at a point two-thirds of the distance from a vertex to the opposite side. This is the Concurrency of Medians Theorem.
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 and 
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 are medians of ∆ABC 
and point F is the centroid.
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Point F is the centroid of ∆ABC. If CF = 30, what is CJ?
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Concurrency of Medians Theorem
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Fill in known information.
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Multiply each side by 
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45 = CJ
Solve for CJ.
Exercises
In ∆VYX, the centroid is Z. Use the diagram to solve the problems.
7. If XR = 24, find XZ and ZR.
8. If XZ = 44, find XR and ZR.
9. If VZ = 14, find VP and ZP.
10. If VP = 51, find VZ and ZP.
11. If ZO = 10, find YZ and YO.
12. If YO = 18, find YZ and ZO.
In Exercises 13–16, name each segment.
13. a median in ∆DEF
14. an altitude in ∆DEF
15. a median in ∆EHF
16. an altitude in ∆HEK
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